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QUESTION 1

Occasionally a job that executes an existing SQL Server Integration Services (SSIS) package does not complete and
nothing is processed. 

You need to ensure that package logging occurs. Your solution must minimize deployment and development efforts. 

What should you do? 

A. Create a reusable custom logging component. 

B. Use the gacutil command. 

C. Use the Project Deployment Wizard. 

D. Run the package by using the dtexec /rep /conn command. 

E. Add a data tap on the output of a component in the package data flow. 

F. Create an OnError event handler. 

G. Use the dtutil /copy command. 

H. Deploy the package by using an msi file. 

I. Run the package by using the dtexec /dumperror /conn command. 

J. Run the package by using the dtexecui.exe utility and the SQL Log provider. 

K. Deploy the package to the Integration Services catalog by using dtutil and use SQL Server to store the configuration. 

Correct Answer: J 

http://msdn.microsoft.com/en-us/library/ms140246.aspx http://msdn.microsoft.com/en-us/library/hh231187.aspx 

 

QUESTION 2

You are developing a SQL Server Integration Services (SSIS) package. 

The package contains an ADO object source variable that holds a result set that was returned by a stored procedure
execution. 

You need to add and configure a container that will execute several tasks for each row in the ADO object source
variable. 

Which three actions should you perform in sequence? (To answer, move the appropriate actions from the list of actions
to the answer area and arrange them in the correct order,) 

Select and Place: 
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Correct Answer: 

 

 

QUESTION 3

You are designing a SQL Server Integration Services (SSIS) 2016 package that imports data from a Windows Azure
SQL Database database into a SQL Server database. The SSIS package has the following requirements: 

Every night, a very large amount of data is imported into the staging database. 

Package processing time must be minimized. 

The package must run on its own dedicated server when it is deployed to production. 

Transaction log activity when data is imported must be minimized. 

You need to design the package to meet the requirements. 

Which destination component should you use? 

A. 

DataReader 

B. 
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OLE DB 

C. 

ADO.NET 

D. 

SQL Server 

Correct Answer: B 

 

 

QUESTION 4

You have a data quality project that focuses on the Products catalog for the company. The data includes a product
reference number. 

The product reference should use the following format: Two letters followed by an asterisk and then four or five
numbers. An example of a valid number is XX*55522. Any reference number that does not conform to the format must
be rejected 

during the data cleansing. 

You need to add a Data Quality Services (DQS) domain rule in the Products domain. 

Which rule should you use? 

A. value matches pattern ZA*9876[5] 

B. value matches pattern AZ[*]1234[5] 

C. value matches regular expression AZ[*]1234[5] 

D. value matches pattern [a-zA-Z][a-zA-Z]*[0-9][0-9] [0-9][0-9] [0-9]? 

Correct Answer: A 

For a pattern matching rule: Any letter (A...Z) can be used as a pattern for any letter; case insensitive Any digit (0...9)
can be used as a pattern for any digit Any special character, except a letter or a digit, can be used as a pattern for itself
Brackets, [], define optional matching 

Example: ABC:0000 This rule implies that the data will contain three parts: any three letters followed by a colon (:),
which is again followed by any four digits. 

 

QUESTION 5

You are designing a data warehouse that contains a customer dimension. 

The customer dimension contains the original customer attributes as well as the most recent set of updated attributes.
When a customer is updated, the original customer attributes must be preserved. 
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The customer dimension design must: 

Support a Type 3 Slowly Changing Dimension (SCD) process 

Minimize the total storage consumed 

You need to design a solution that meets these requirements. 

What should you do? 

A. Design two tables. One table will hold the original customer surrogate key and attributes. The other table will hold the
most recent customer surrogate key and attributes. 

B. Design a table as a Type 2 SCD dimension that holds the surrogate key for each customer and its attributes. Limit
the number of records per customer within the table to two. 

C. Design a table to hold the surrogate key for each customer and its attributes. Add a column to store an indicator that
identifies the record as original data or recent data. 

D. Design a table to hold the surrogate key for each customer and its attributes as well as additional columns to store
the original attributes. 

Correct Answer: D 
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